21.1.21 Alternative maths
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Half of 8 is………….








Half of 12 is ………………………….
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1. Simran puts fruit on one quarter of her cake. Circle the picture that shows this.
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2.Tick () or cross (x) the box for each shape to show if it has one quarter shaded or
not.
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5. Tick (¥') or cross (x) the box for each shape to show if it has one quarter shaded or
not.
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1a. Is Alfie correct? 1b. Is Emily correct?

| had 8 coloured pencils. |
broke half of them. Now | have
4 left.
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Explain why. Explain why.

I’ had 12 bouncy balls. | lost half
of them. Now | have only 5 left.
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2a. Using the digit cards, complete the 2b. Using the digit cards, complete the
statements below. statements below.
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